Sy onm

+SP
. =l \ ] —

X N

S

2 ) Y

- -

___; Aﬁ NI~

n MM

[ | Mo
W_E
Mm

EEMRERNES—EROES=-=TR

_.._l__J/|~/7
> c + m KIVIDIDDN |

Think threads with

<
m
=
=
=




A-54v5z218¢51L9v7 AU+SP

[M2~M86] D S L bl
~ s O =
} % — B % g S| B %JL%; (mLm) (ﬁn) (Emr?) (fms): (Em)ms) Bk
M2 x 0.4 P2 | 2 | 25 |42 |72 |12 | 27 | 3 | VSAPQ2.0OE
£ M25x045| P2 | 2 | 25 | 46 |81 | 14 | 29 | 3 | VSAPQ2.5F
£n ! £s M26x045| P2 | 2 25 | 46 |81 | 14 | 29 | 3 | VSAPQ2.6F
M3 X 0.5 P2 | 3 | 25 |46 | 9 | 14 | 26 | 4 | VSAPQ3.0G
[M8~M20] M4 % 0.7 P2 | 3 | 25 |52 |11 |17 | 29 | 5 | VSAPQ4.0I
Ds M5 x 0.8 P2 | 3 | 25 |60 |13 | 22 | 33 | 55 | VSAPQ5.0K
, _ _ =) M6 X 1 P2 | 3 | 25 | 62 |15 | 26 | 33 | 6 | VSAPQB.OM
= M8x125 | P3| 3 | 25 |70 |19 | - | 36 | 6.2 | VSAPR8.ON
2 M8 X1 P3| 3 | 25 |70 |19 | - | 36 | 6.2 | VSAPRS.OM
£s M10x15 | P3| 4 | 25 | 75 |23 | - | 38 | 7 |VSAPRO100
L M10x125 | P3| 4 | 25 | 75 |23 | - | 38 | 7 |VSAPRO1ON
M10 X 1 P3| 4 | 25 | 75 |23 | - | 38 | 7 |VSAPRO1OM
u'_'\ﬁ HEH]*Z”"I': a‘jmﬁjﬁg M12x175 | P3| 4 25 | 82 | 26 - 42 | 85 | VSAPRO12P
M12x15 | P3| 4 | 25 |82 |26 | - | 42 | 85 | VSAPRO120
AU+SP MIXHEBR M12x125 | P3| 4 | 25 | 82 |26 | - | 42 | 85 | VSAPRO12N
- th:‘;zma)ﬁi%?)aﬁ O[M14x2 P3| 4 | 25 |8 |26 | - | 45 | 105 | VSAPRO14Q
O|M14%x15 P3| 4 25 88 | 26 - 45 | 10.5 | VSAPR0140
ATYUAM SUS304 5~10 o|lmi6x2 P3| 4 | 25 | 95 |26 | - | 48 | 125 | vsaPRo16Q
&®# SCM/SCr 10~20 O|M16%x15 | P3| 4 | 25 | 95 | 26 | - | 48 | 125 | vSAPRO160
BRI S45~ 10~20 O|mM18x25 |P4| 4 | 25 [100|33 | - | 51 | 14 | VSAPSO18R
FRERE S25C~845C 10~20 O|M18x15 | P4 | 4 25 |100 |33 | - | 51 | 14 | VSAPS0180
KRR ~S20C, /85400 10~20 O|M20x%x25 P4 | 4 25 | 105 | 33 - 50 | 15 | VSAPS020R
PI=E2HY  EnGeHY AC/ADC/ZDC 20~30 O|M20x15 P4 | 4 25 | 105 | 33 - 50 15 | VSAPS0200

ey TERIHBUEEEREBTIHDTEHIEL AL

ITEEFHUP

MIFE : AU+SP MB6X1 2500
® B #S0M4a40 2,000 WR D e
SyEVIEE | 10m/min mo
= &loo L 1500

VAN £ . g 1 000 e
AU TES |9mm bR : 2007

L) NV - T S

B A B B | TTERY=UIes (IO—71 I I RS ER) Wojij;ff;f
I I B ) 0

BLF (1 US4 1R) + 32 E DBRRIC L B D £ FHELIEDKIER S
@ AU+SPIZ, RUBDRRILZEHILEL . UEDRUILZES LV U EHERZRALTVET,

@AM IREI TEEDOMRENREHEELE T,

L IEBDI R B LR R TID< FHEH E
FYE VTNV EERIER O » &
RUAA RO (REMT) o
DD TR DR (R Li— K ITHE) AR
CERAICEULTOEE
QUHET A EBLHHDT. I N— RHEON AL EEFHIH LT S0, QL EZBEMICHL DM IFABIE DR ENDT VLI I Lo ) EEE
ST 2 fahaAsdy 5 O T WY W G TR LT < 2 50, LTLEEw,
QLEZAINL LD ETOT. LEOMEE R IIMIC T84 HEH L QUM THITMITHICE 2 ARV E I Lonh) EEELTLZEE W,
ST {7 K, DL VEERER T AT O d 5 TEIZER L30T ¢ 725 10,
OETLATHCRAEET S LAH) ITOT ReMEBHL T OUHITEREED T S LA K OB S ) £ 5 O TH I % 4517
s, STLE &,
m aﬁ : |
2 Ting A 3 VE ph
%I: ECOLOGY
T104-0031 RREAHFRXRHE3-13-10 (FET—IL KEI) o QM4
R - BB 20-800.415
" ty = . m ~ -
| ISV 7;§1T]*E‘\nki RkEDEHOITATIa Y
@ h—LNR—IF7 RKUX  http://www.yamawa.com/jp BECEEES 2L VBIOMEFNTE
BRI LTEEAFERICRYEATOET
NV ININCAI Bl (%) YEDIVIZFUIIY—ER (#&) PELAVY—FVaF)b L YAMAWA JQA-EM3465j

(AR SBAUSPA



